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L. The table shows information about the length of time that 180 people spend gardening.

. Freq .
Time,  (minutes) Frequency Frc»_cL. De,nsmj = CPJ‘%-\WR

60 <1< 150 18 O-
150 << 180 66 2 P |
180 <7< 240 60 I

240 < 1 < 360 36 -3

(a) Draw a suitable frequency diagram for the data.
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(b) Calculate an estimate of the average length of time for those people who are gardening for
over three hours.

Meon «simake = Z(m X F) - (Q,IO x 60) e (?)OOX ?;6)

=z £ to + 2%
g RAEOES 243 . F5 mins
q 6
D*LFB }5 minutes
(2)
(c) Two people are chosen at random from the 180 people.

Estimate the probability that both are gardening for less than two hours.

Easﬁim‘ce, For (:rea&amc‘.a oF pe.oPIL éo\rde,n'mé For l%s
than 12O ainvbes 18 %jwem Ba fhe areo. OF the pock'son
o Ene histogram bew eicakeel | rw\m‘e_lxj D2 X 6O = 1. |

e 1B 5 1] . 135 Q*GKS— .......
180 139 %52,220 (3)
_ 1
T8ES

EikE
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. 2. The table gives information about the heights, / centimetres, of plants in a greenhouse.

Height (h centimetres)  Frequency F- D
0<h<2 | 7 I 4+B
2<h<4 | 14 | T
4<h<8 16 I
8<h< 16 2 | 235
16 <h < 20 12 | 3

Draw a histogram to show this information.

v

r 1 I

o 2 % t & 1o 12 % 1§ (g 2o
\‘\dé)ht Lem )

(Total 3 marks)
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3. The table gives information about the ages of the population of a city.

(a?reg:rs) (iflzilizfds) = D (%MV‘SWS)
0<a<10 9 o.-9

10 <a<20 8 =
20< a<35 10 Q.éq_(ﬂ.d-‘o.)_
35 £a<50 19 1-aF (24 p).
50 <a<55 4 o-R

55 <a<65 7 Q-
65 < a <80 4 o-27 (2. p.).
80 < a <100 1 n-05

(a) On the graph paper below, using a scale of 1 cm to represent 10 years on the Age axis,
draw a histogram to represent this information.
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(b) Write down the class interval in which the median lies. 25 <a< 50

1
(c) Calculate, giving your answer in years and months, an estimate of the mean age of the
population.
C))
2~ x F) 19&(9(5)4- %(15) +10(27:5) + 194 2.5 ) |
TP Fouls28)r Feo)+ ul325)+ %))
s » B b oA p. ).
= 225%5 . 2641 yes [24p-)
6k
s 36 Yeocs and B mooths (ko Ehe Nea cefk
ronth ) -
P P T
6% edeed to nesced mmk) ,
Bz
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4. A pub has 64 customers one evening.

The table gives information about the lengths, in minutes, of the time the customers stayed for,

Length (x) minutes

Frequency

F-D.

1

£ =

10

15

21

15

Draw a histogram for this information.
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5. The incomplete histogram and table show information about the weights of some

vehicles.

Weight (w) in kg | Frequency ~-D.
0<w < 1000 16 0-016
1000 < w < 2000 g °.0)g
2000 < w < 4000 0.y Q.0 ]
4000 < w < 6000 14 O-00F
6000 < w < 8000 | 2 O- 006
8000 < w < 12000 4 D00 |

(a) Use the information in the histogram to complete the table.

NeRE D= -C% => P = F.0 X C\g (i-e. area op ‘:W(‘S) @
(b) Use the information in the table to complete the histogram.
(2)
A
T T Eiaes
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6. One hundred hikers went for a walk. The times taken by the hikers to complete the walk are
summarised in the table.
Time (/  Number of hikers M x £ b
D pe25 15 | §%5 g
25< <35 11 4390 11
35 <1 <40 27 ©i2.5 5.4
40 < t <60 15 5o 75
60 < 1 <90 15 as | o.5
90 <1 <100 12 o | & 9 .
(a) Use the information given in the table to calculate an estimate for the mean time
taken, to one decimal place. S (mx F) . 4B 9 - W7 R (1d-p- ) .
= £ 95 mInS (3)

(b) Given that the frequency density for the 40 <# < 60 time interval is 0.75, complete

the histogram to represent this information on the graph paper.

Frequency density
1

“Ho

io 129 3o &

50

bo
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Frequency
density

4

3

7. The incomplete histogram and table give some information about the distances some
cyclists travel each day.

10 20

30 40
Distance (d km)

50

Y

60

(a) Use the information in the histogram to complete the frequency table.

Lots more free papers at www.bland.in

S ——

e e T IR e S e T e

Distance (d km) Frequency F- D =
0<d<5 15 2 ;
5<d< 10 20 “H
10<d < 20 25 A+ 5
20 < d < 40 | & 0%
40 <d < 60 15 Q: F-5
@)
(b) Use the information in the table to complete the histogram.
(1)

(Total 3 marks)




8. Terry asked the students in his class how many hours they played on computers last week.

The incomplete histogram was drawn using his results.

|

-6 :
-4 h ] 1
I ' 1 I
Frequency ‘
density | _‘ !
Q-8 H
Q- “ 7 7 - f'll
L AL A
AP AV AV. AV AP 4
7 4 P Ardp L
AV, .4
9 i / g
PAV 4V 4P 4 s P
4V dPd ,/ /—'I ————11
7 P, P,
B 2 o] P F .
I’ ', If L /', L
o —7’1_ 4‘ 1/_' _2/{2/ B S 1 6% =
0 5 10 15 20 25 30

Hours watched

Eight students played for between 10 and 15 hours. Six students
played for between 0 and 10 hours.

(a) Use this information to complete the histogram.

6
D = 8 - (.6 ED, = =2.a @i
i0-i5 5 0-10 tO
()
No students watched television for more than 30 hours.
(b) Work out how many students Terry asked.
6+ % + 12(5)+ o5(10)
= g5 AS
2)

(Total 4 marks) EEEE
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9. Some trains from London to Birmingham were late.
The incomplete table and histogram gives some information about how late the trains

were.
Minutes late () Frequency ~- L
0<r<5 16 B+
5<t<10 10 o
10 <£<20 [ -2
20 =t .30 6 Q6
30 <1< 50 6 93
A
I 17 | I I T = | ]
]‘ J HH SEEEE R
; i
\ I :
3 e
15 i | - i
Frequency | , i ] a
density B ! ! I i
> T f | e
o 1=l H = 1 &
i. 2 ! ‘ ; - 4 ' : } l
o-3 maiszss +
] ‘ 1 i T
a .l.‘- B, : ) | + ‘ H : .: M 1__
i‘ :, _.___..-i S BN t it A‘ } t -
P 7% | ; 1 | I 5 I P \[ E ) O : 1 '}' ”\’# T4 T 1 r-
0 10 20 30 40 50
Minutes late (1)
(a) Use the information in the histogram to complete the table.
(2)
(b) Use the information in the table to complete the histogram.
(2)
Total 4 k e
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in a greenhouse.

4

10. The incomplete table and histogram give some information about the heights of some tomato plants

™)

Frequency b~

density

40 50

60

70 80 90 100

height (4) cm

Use the information in the histogram to complete the frequency table.

= 1«

Height (/) cm Frequency
40 € h< 50 10
50 < h <55 29
55 < h <60 30
60 < h<75 15
75< h<95 8
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11. The incomplete table and histogram give some information about the weights (in kg) of
some boxes.

Weight (w kg) Frequency - D .
100 < w < 130 30 |

130 <w < 150 g 4 o
150 < w < 160 6O 6
160 < w < 180 40 4
180 <w < 210 18 D-6

{ <

Frequency 5t
density

4 4
3 -
Z S

7
| ////,V/////(//J

0 T T T
100 120 140 160 180 200 220

Weight (w kg)

>

(a) Use the histogram to complete the table.
2)

(b) Use the table to complete the histogram.
2)
(Total 4 marks)
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12.The table and histogram show information about the length of time it took 165 adults to
drink some water.

Time (¢ seconds) Frequency Fald,
0<t<10 20 )\
10<t<15 32 64
15<1<17.5 30 I

17.5 < <20 40 | G
20<1<25 A 3.9
25« t <40 2 Q- g

None of the adults took more than 40 seconds to drink the water

(a) Use the table to complete the histogram.
@)

(b) Use the histogram to complete the table.
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The histogram shows information about the time it took some children to drink the water
None of the children took more than 40 seconds to drink the water.

N-B L Acea of hittogram bacs

(c) Work out an estimate for the number of children who took 21 seconds or more to
drink the water.

Fre_clumc,\,) For‘ e dn 55 bovw 13 6\\1\,«\, b\a

bt = 5K
R+ 8 boxes

=> Free\’umcv‘) FC)(' Secand Lar = HX 105 = FB&D
- = FD Cor condd Lar = 5O . 2O

XD
(From Witk we can calibrake the q‘g ...................
D axis. 3)
No - of children Who kook 2 9l s (Total 7 marks)
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110 children took up to 12.5 seconds to drink the water, {272V de €< Fru\gu\c\g '

- Uv(l‘l)-l— 15(1) = -8 EiEE
-
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